Corrected Last Three Sentences in Comment 66, Chapter 6 (page 253) in the
Second Edition of Nonparametric Statistical Methods by Myles Hollander and
Doug Wolfe. They should read as follows:

N 3
Similarly, £o{W,, < 1.4142,(u,v) = (1,2),(1,3),(2,3)} = 13 =1- .75, because

the event { W, < 1.4142; W, < 1.4142; W, < 1.4142} occurs only for the
three configurations, (h), (j), and (I). Finally,

P{W" < 0,(u,v)=(1,2),1,3),(2,3)} = 112"

1- .9167, corresponding to the

single configuration (1). Hence, for k = 3,n=1n,=1 and n; = 2, we have
Cls000 =1.7321, ¢ 500 =1.4142, and g4, =0, and the values .5000, .7500,
and .9167 are the only available experimentwise error rates for the Hayter-Stone

procedure (6.69) in this setting.



